The Complementary Cumulative Distribution Function of in-degrees from November 7 to

December 1 are displayed as follows.
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Indegree distribution on Nov.9
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0 Indegree distribution on Nov.10
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Indegree distribution on Nov.11
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Indegree distribution on Nov.12
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Indegree distribution on Nov.13
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Indegree distribution on Nov.14
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Indegree distribution on Nov.15
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Indegree distribution on Nov.17
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0 Indegree distribution on Nov.18
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Indegree distribution on Nov.19
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Indegree distribution on Nov.20
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Indegree distribution on Nov.21
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0 Indegree distribution on Nov.22
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Indegree distribution on Nov.23
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Indegree distribution on Nov.25
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Indegree distribution on Nov.29
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0 Indegree distribution on Nov.30
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0 Indegree distribution on Dec.1
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